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[Participant ID

Participant Name

Test Center Name

iON Digital Zone Chikalthana

Test Date 24/03/2023
Test Time 3:00 PM - 4:00 PM
Subject Security Assistant & Multi Tasking Staff

Section : General Awareness

Q.1 fFmfeafEa # @ wiF a1 7o -6k # $5-37-fther 3R e 99 <igRl & aR fovar siman

&?
Ans X 1.gHEd T

X 2. 39 Sen g

X 3.geqd
o 4.3 I

Question ID : 630680193630
Status : Answered
Chosen Option : 4

Q.2 fr=fafla d @ wra 6 o= it g o feR woa | fRa 82

Ans X 1. TSR HG
X 2. 168 T
o 3. TR ThIY
X 4. arsie T

Question ID : 630680193620
Status : Answered
Chosen Option : 2

Q.3 fAdeR-srergER 2022 #, 363 AT Wt T ATHISTH Fgi T UT?

Ans X 1. FgRTE
o 2. ORI
X 3. FAfesn
X 4. sty T

Question ID : 630680193614
Status : Answered
Chosen Option: 2
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Ans X 1.Brownian effect
X 2. Mendel’s effect
o« 3. Tyndall effect
X 4. Bowl effect

=Prepare 50% Faster

Q.4 Light falling on colloidal particles leads to scattering of light. This phenomena is called:

Question ID : 630680193616
Status : Answered
Chosen Option : 3

Ans X 1.1980
X 2.1970
% 3.1984
o 4.1974

Q.5 &R A fore avf &k ugwur =T 91 (CPCB) &Y uTg=T fi?

Question ID : 630680193627
Status : Not Answered
Chosen Option : --

Ans o 1.2050
7 2.2030
7 3.2060
X 4.2040

Q.6 AT 2022 7, Fg={E AR UTfcrent 3R AERIE AHR A _____ Teh hlel Sedoi el FHTE
& & forg erat ugeht serarg s s, o sterary ot ater (MCAP) o-1E 81

Question ID : 630680193622
Status : Answered
Chosen Option : 2

Ans o 1. RRRRe
X 2. SR
X 3.dfge
X 4R

Q.7 -Aifa s gRT 9aa R ey (SDG) ASH Yaehich 3R Bratd 2021-22 7 Ffaf@a d @
fore 21gR it ofief & ergst & et foRam T 82

Question ID : 630680193629
Status : Not Answered
Chosen Option : --
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Q.8 Which of the following processes cause cooling?

Ans  # 1. Evaporation
#5 2. Translocation
75 3. Fermentation

#< 4. Respiration

Question ID : 630680193626
Status : Answered
Chosen Option : 1

Q.9 g s dier ard forw wog @ eifda &2
Ans X 1. "R

o 2. BaTe

X 3. e

75 4. TSR

Question ID : 630680193631
Status : Not Answered
Chosen Option : --

Q.10 fA=fafEa & & fre ansfia e & veef= A GHuRT a1 Tege=R A« glar & Sit @R wef= &1
HaTge giar g?
Ans X 1. 3Ra-TedH
X 2. ifsh
3.

X 4. %uh

Question ID : 630680193623
Status : Not Answered
Chosen Option : --

Q.11 @t EfEan g v 2022 & R 79 oy 7 Taffds e Sfia 92
Ans X 1.99«

X 2. 7ERTEg

' 3. gRamom

X 4 affeg

Question ID : 630680193619
Status : Answered
Chosen Option : 3
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Q.12 fAdeR 2022 & IR TR TRHR FRT AT S F TR IR TS FIER A 754 & 7edl A
Toft fRrenffai iz fAerel & g wemd RF F @ ugat T Sifvard &= R @1

Ans X 1.3= ATRA
o 2.1
< 3. urefAr g
X 4. qy4fe g

Question ID : 630680193628
Status : Answered
Chosen Option : 2

Q.13 RT-PCR Uit # Ct 20z o1 T 31 82

Ans X 1. Computed Topography (heeg eiutumdh)
X 2. Computed Tomography (e T
«" 3. Cycle Threshold (ITsfhet ggies)
#< 4. Corona Threshold (#RHFT gUgies)

Question ID : 630680193633
Status : Answered
Chosen Option : 2

Q.14 Qe a1 arel 81
Ans X 1.27gTs
X 2.9gd
o 3. 3
K4

Question ID : 630680193624
Status : Answered
Chosen Option: 3

Q.15 ASARAT I HRUT T+ &g Uepll # AN ! HehfAd et arelt wreHifFan 6 ora aa fhasit

Ans X 1.3
2.4
X 3.2
X 4.1

Question ID : 630680193621
Status : Not Answered
Chosen Option : --
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Q.16 TeRotidt uroft &1
Ans X 1. RarH@

X 2. i

o 3. Al

X 4 gRfE

Question ID : 630680193625
Status : Not Answered
Chosen Option : --

Q.17 fora &5 7 2022 ottt T a1 wrg=e Sfiar ar?
Ans o 1. FE TRl

X 2. g9
< 3. ORI
X 4.59%

Question ID : 630680193618
Status : Answered
Chosen Option : 4

Q.18 Which of the following statements is INCORRECT?
Ans X 1. All chordates are triploblastic.

#< 2. All chordates have paired gills. pouches
#2< 3. All chordates have a notochord.

& 4. All chordates have a ventral nerve cord.

Question ID : 630680193632
Status : Answered
Chosen Option : 4

Q.19 Yk Y@= gaehich 2022 F, YR fohd W W 8?2
Ans X 1.1218

o 2.1073
2 3.109%
X 41163

Question ID : 630680193617
Status : Answered
Chosen Option : 2
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Q.20 The white blood cells in human blood are also called: e o

Ans X 1.erythrocytes
/X 2. melanocytes
Z< 3. granulocytes
¥ 4. leukocytes
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Question ID : 630680193615
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude

Q1 2 arrew wEmat « 3Ry (x> y) F FYTH TATES (LCM) 667 F| 5y —3x W A A Here?
Ans X 1. -28

X214

3 28

X4 =14

Question ID : 630680193638
Status : Not Answered
Chosen Option : --

Q2 A swrer fomlr w0 @ 20 R & qU FT war €, FEtE B 3RS 36 F9 A 30 R F w wew #
3rgie 5 BFT 9% T ary W R H#R o G 9w s A C gEwr wnher 7 RE & g R e
3T @ A & fohE e # Tenlee e s e

Ans  @1.3:2:7

X21:8:9
X32:6:9
X44:5:6

Question ID : 630680193642
Status : Answered
Chosen Option : 1

Q.3  x, Y 3ikx Z F7 st o 50 kg ¥ X AR Y 1 T ST 445 kg ¥ 3w ¥ sk z # sitma ww
535 kg ¥1 o X, Y 3T Z & 9 Fer p, q A r §, & LY @ A gvAeE F & W aF e
__ gmm

Ans X 1.1.55
X2 0.95
3 1.46
X4 045

Question ID : 630680193647
Status : Answered
Chosen Option: 3
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Q4 A 3R B srerraET HE FE gU R @ Faw 15 R i 20 R # qu e E AR A s
¥ oF W T THF B 08 X I w0 § AR AR 7 8 R aw wwn 8 @ I A e
ST QT T SAT?

Ans

X 1.

< 2

LTI R S .
g~

X< 3

Question ID : 630680193639
Status : Answered
Chosen Option : 4

Q5 A AFT AT O INFTFT AT F RN 2 AT R 4 T T e T a9 F
TET & @t S 3 g gfae # &= gfuaar g osaw Gae 2

ans 140
X2 20
X3 30
X< 4 50

Question ID : 630680193635
Status : Not Answered
Chosen Option : --

Q.6 & gwmt F & F AT 1140 §1 TR v HEW F 6% T FEA F 10% F WeT §, o a9 Few
g HifsTi

Ans 1. 2850
< 22500
< 31660
< 4. 2600

Question ID : 630680193648
Status : Answered
Chosen Option : 1

Q.7 26,000 9T 4 T F RY% ST F 2T T Arog WUNOT ==, 39,000 9T 12% EEE Fr g ¥ 2 Iuf F
9ToH WYROT 2T & SO §| R 7 A A S

Ans 1.9
X2 11
X310
X4 8

Question ID : 630680193637
Status : Answered
Chosen Option: 1
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¥ 20 3k 70 F dr Fr T gEEt w7 dwg T DS

Ans X 1445
2 43.5
X3 415
X4 465

Question ID : 630680193652
Status : Answered
Chosen Option : 2

0 A arloe iy = DT R Gy w1 s e A

Ans X1.7:5
V2121 7
X3 5:7
K47 :12

Question ID : 630680193653
Status : Not Answered
Chosen Option : --

Q.10 g Fwamaft & 3o 5 @ 4 §) T & T & e F F IAE § F FE; y "Erlh 0 g, A
RO HEATHT T AT 2 0 1 g ST § a9 TNum e #1 39d fhda gen, 99 & TS

TEt # ¥ v # IWIST AT y FHOSAST A0em?

Ans  w1.8:7
X2.3:2
X37:86
X45:4

Question ID : 630680193636
Status : Answered
Chosen Option : 4

Q11 & i v & w5y WA T B § o= g% g § H FEer 10 kmvh AT 27 kmvh Fr TTE & T
gAY 1 3R Fg §1 79 7 fFeer € & 9 9w § % v o= S gmh & 340 km 3w ght aw
g1 A 3T B & F= gl gl

Ans X 1. 589 km
<2486 km
< 3. 786 km
« 4 740 km

Question ID : 630680193640
Status : Answered
Chosen Option : 3




. V2]
|xam‘m

=Prepare 50% Faster

Q12 s50m x 30m x 40 m Ta=Taft aref ver SEW A 3 m &6E, 2 m =g 3 1 m I &S @ swmr S
&1 SHE 7 6500 g7 @ AT foam §1 3w fraen Sef Fr amaemerar gt

Ans X1 6500
2210000
v 3. 3500
X< 47000

Question ID : 630680193643
Status : Not Answered
Chosen Option : --

Q.13 wF Rest H9=l v WgT W A AT sfEe s, aver Hv geer @ S s R e e
A H 3¢ w20, 30 3R 60 e v §1 AR Fw A Fvr SR g Rree wweR R A
FE et &, A 38 W I F A e e TR wd e 99 e w1 4% wa

Ans . 13% -G
X210 =
X314 feF
X 4. 12% o=

Question ID : 630680193641
Status : Answered
Chosen Option : 1

Q.14 00 L % v Tewr 3 gu 3N o0 o7 359a 4 0 5 ¥ Y 7% 39 5 ¢ 4 @ R, o g #r e
T A FeEr e

Ans X245 L
X2205L
X3175 L
¥4 225 L

Question ID : 630680193650
Status : Answered
Chosen Option : 4
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Q15w A, F9= B & 530 km T &1 U 3 RuT A § §aE 9:00 §F T B #1 HT 90 kmv/h Fr
e W T §, T gEY &7 T B ¥ geg 10:00 & R A 1 HT 90 km/h Fr =me F =ewdr
g1 ¥ rE gy HeEt?

A X1 12:26:20 IaRTEA
v 2.12:26:40 F9UEA
X3 12:26:50 3ITEA
X4 12:26:30 37RTET

Question ID : 630680193649
Status : Not Answered
Chosen Option : --

Q16 1+4+9+16+25+ ... +81+100+81+ ... +16+9+4+1 =7
Ans x 1. 550
X 2. 690
<3620
¥4 670

Question ID : 630680193651
Status : Not Answered
Chosen Option : --

Q17 gfx fdr =TT & 55% @ 15%, 2475 ¥, a7 3@ TEAT # 41% AT SHISAT

Ans 112300
< 2.15000
<3.10200
X 412000

Question ID : 630680193646
Status : Not Answered
Chosen Option : --

Q.18 & FHEEN UF a] % [@%d #ed # 40% & IR FIar § 5w FRoT swa @t o 15% #
T 40% B ST ¥ FT o & e gfowa & gfy @ @2

Ans 1. 15%
X 2. 20%
<3 25%
X4 10%

Question ID : 630680193634
Status : Answered
Chosen Option: 2
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U gfr 317 = 41" — 40F ¥, x2 FrmF STeR R M2
Ans X 1. 4

X2 20

X312

416

Question ID : 630680193645
Status : Not Answered
Chosen Option : --

Q20 FiRm =1, sl 9 @ THgRk @ AT SO &Y 5% F AF g W, 1.5 I & ag I F
T FE g 264,000 # w W wliel| 37 9 AIg THEAT T A A ST

Ans X 1. 32 564
v 2 74,921
X 3. 25,126
X 4. 32,041

Question ID : 630680193644
Status : Not Answered
Chosen Option : --

Section : Numerical,Logical,Analytical Ability & Reasoning

Q.1 Ry g sigr-uyg gl #, g AT adh & FgUR usen HeR-Tg, TR 31aR-Uqg & &fdd &1
g ¢ gt o1 eaTFgde sremaH HIfIY SR Ry e faereul d & 39 g o1 99+ Hifg, st
TH eh T STTEROT T §l

JHL : MKO :: PNR : SQU
Ans X 1.WUX:YXB

KX 2.WTX: ZXA

o 3. VTS: YWV

X 4.ZXC : VUX

Question ID : 630680193667
Status : Answered
Chosen Option: 3
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Q.2 T&uRar#d A, B, C, D, E 3R F g G &1 uRar # &} -3t goret &1 aRar & gew g, SreparesoR et
fR1eres, soaardt, SR, ganrede ofik Stz &1 AfgaT sreatfient A &t eraamdt & wrr g8
&1 Tehiet i AT} B & A1 gF 8, S UeF ST 81 Yeprsee F, B T dfeT § 3R E aT TS 81 C &t

T g, a8 A F ag (daughter-in-law) 81 E SR @, S s i g g | Ad R e F

2l

D T F & TTY o1 Seie &7
Ans X 1. S &1 Ser(Ard)

o 2.3
X 3.
X A far

Question ID : 630680193666
Status : Answered
Chosen Option : 2

Q.3 A, B,C,D,E, F 3R G ATHe 9T SfaT Yeh &b H Yeh oh HUR Ueh Oa<AT & 7@ Y &1 G &l 9@
R UM R EIAR GCFHFSFFTRE@ I FARAFHa2ala g ER iR a
FR I wR @1 AT 81 B i D & Sk R @1 T 1 F 3R E & ot fohaa ataw &2

Ans X 1.

X 2.9R
X 3.d=

VR

Question ID : 630680193656
Status : Answered
Chosen Option : 4

Q4 feafefaT ve T o1w amw =t amfia §1 el ‘et &1 foewor e €, 3o Rerfsar & fredor
X &, AR e welaweRl # eI wwer §

8\
SR

At

IR F FT T FART T 57 B & S &= s e sk weiawr o 2

Ans

X112

x23

¥3 5
X4 4

Question ID : 630680193658
Status : Answered
Chosen Option : 3
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Q.5 M aRKE,F, G, H, J, K, L 3R M geh mier 51 & afk: ot & dg &1 3l aifoga glaw 33 €, e st
AfFT SR A g R st Fa A 811 F K & 919 g R wR a1 81 H, K& affce o181 H 3R E
& Aeg hae 9 aafwh 88 &1 L 3R E & 91 Shael Teh aafwh aa1 21 M, L & 214 39 9faehe a1
21 G, F & 910 3T Gfaehe da1 81 H & I & L o1 = R @2

Ans o 1,370 9 U WH
X 2. 914 T ey wWH
/< 3,28 3 9T e
X 4.9 8 figr we

Question ID : 630680193655
Status : Answered
Chosen Option: 1

Q.6 Htafh - C, D, B, A, J,F, G, H 3R K — Teh Hieft 3ar & IwR Fi 3R aifdga glam a3 §, sifeh
St gl foh 3t she 6 811 G, C & &1 3R ¥R TIF W 93T 81 B, G & a1E 3R Y VI WR a1
1D at K 3R T &t B & affche o181 F, C & a1$ 3R = &I wR, 3R K & ard 3iik gk &=
WRIAST 21 K, A & 1 3R uiad @ wR 331 21 J 3R A & o= Shaet = ety 38 &1 R=faf@a

# & i H & &1 3R i eR = R da1 87
Ans X 1.D
N2F
X 3.c
o 4.6

Question ID : 630680193654
Status : Not Answered
Chosen Option : --

Q.7 S16H frf Fiffa a9& & P22K @ Gaifda 81 35 ueR, M28N, J34Q & Tsifdd &1 S aeh o
T e g4, K32P fFrafeafaa o @ forad weifda &2

Ans X 1.F40U
o 2. H38S
X 3.G42T
X 4.D38W

Question ID : 630680193668
Status : Answered
Chosen Option : 2

Q.8 FmfafEa wfiezur & usraraes Rg (?) & R W fhawr afAse 7 smgmm?

1698 <h1 48.09% + 2387.98 &1 59% - ? = 1225
Ans 4 1.7000
X 2.1060
< 3.1076
7 4.1040

Question ID : 630680193672
Status : Not Answered
Chosen Option : --
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Q.9 PQR,S,T,Ug R & frd g & S0 Ua @1 a1 21 R &1 P & &l R s T 21 T & U e soR et
& ek SR @ AT 21 T 3R S & ofia haet &t 2=l T@ g &1 T ol 9ad R a1 9= i a8
FAITATZIP R U S FWRIW AT 21 Q &l S & Sich FIRIW@T AT &1 RA T At T & &iah IR iR
T8 8iep A @ AT &1 U Rt S & SR Rt U e wR 3@ man @1 R 3R U & ofta dhaer 2 2=
gif=fafaa & 4 forg fasd &Y U & Sl = sar man @2

Ans ¥ 1.Q
KT
# 3R
5 4.S

Question ID : 630680193657
Status : Answered
Chosen Option : 1

Q.10 af 1 S=a<t 1997 &l AR AT, df 24 S 1997 Tl TG ol i AT =1 u1?
Ans X 1.9¥dR

X 2. fdER

¥ 3. HTeTaR

X 4 9mar

Question ID : 630680193662
Status : Answered
Chosen Option : 3

Q.11 9R 3ierR-uyg g 3y g g, S @ i forelt 7 foreht ave gar 91t &, ofik uah sima @139
I T TG I

Ans X 1.KJM-PQN
7 2.GFI-TUR
7< 3.DCF-WXU
o 4.QPR-KJI

Question ID : 630680193669
Status : Answered
Chosen Option : 4

Q.12 Ry 7y Rereul & @ 39 Hwen o1 9g+=1 fifsig, st Re=faf@a siaern & vsems Rg (?) @
ufaenfd & Tehd 81

5,20, 80, 320, 1280, ?
Ans X 1.4430
o 2.5120
X 3.4890
X 4.4760

Question ID : 630680193670
Status : Answered
Chosen Option : 2




Q.13 Ry Qg wu=T 3k Frehl @t eargde afeq| Ry 7g syl & SMuR W aa 3 fh @ a1 FAehd =Prepare S0% Faster
g gl

hY:
Z<S<E=J,J=2T>G=V

foreend:
I.V<E
nT>Z

Ans X l.ordt e larll g
X2 adfwsd | siRag T @
o 3. Shaet e | g 8
X 4. %ad e |1 9 &
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Question ID : 630680193659
Status : Not Answered
Chosen Option : --

Q14 gx et &, 3Rt F THg F AT & T ATH F AL FEATHTIR F ST FF Fewa
T & 3l aret F srgERer e o ¥ wel & HEETer S AT el F Al et & AT Seat

2l
# |8 |% |@ |6 |& |1 |+ |v |7
A |L |B |T @ *] E |D |F |uU

i 1 I FS 0EE F T A YF @T § Ak T AT % WY WA @ g, af 9@ A A
HER & AT el F SehtAa wT g

o 2 : TfE FRE aeE & & @ 3t T ¥ O 9 T @ 1, gEy T # 2 AR e o s @

FT FA EEM

aF 3 Y WS g How ¥ UF I T F Wy wA @ § A wh wiwet # feas 5 oA
TR F Feag F EEm
“BEAUTIFUL” % fre %z =)

Ans

X 1. %1#T@A178
v 2 %123@A4!58
X 3 %123@&!78

X 4 %l#FT&@!T8

Question ID : 630680193664
Status : Not Answered
Chosen Option : --
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Q.15 f=fafaa T ) dqfea o= & fog 6 3 Rgl # smuw § agemm ghm?
16x 25+ (121 - 11) = 389
Ans X 1.(- 3Rk x)
o 2. (-3R=)
X 3. (+3R-)
X 4 (x8iR <)

Question ID : 630680193673
Status : Answered
Chosen Option : 2

Q.16 3 7T faeredl & @ IW T &1 9g+ Fifoig w1t fA=fef@d siaen d usaaa Rg () F M w

gt
5,6, 10, 19, 35, 60, ?

Ans X 1.122
% 2.106
W 3.96
X 4.118

Question ID : 630680193671
Status : Answered
Chosen Option : 3

Q.17 2-3ihra TEarait 3R uefient it £ 71 saa=uT 1 sregae &1 3k fAfef@a ust s s &)
(aTd) 65 67 87 86 & 43 32 37 @ 27 % 29 76 71 49 $ 52 23 # (aTd)
IRk sien & ard Rt @ 87 s sk ard R @ 57 sem a2

Ans X 1.106

x 2.97
o 3.103

7 4.109

Question ID : 630680193661
Status : Answered
Chosen Option : 3

Q.18 fareft fAfsia e e #, ‘greater than person’ @t 476 fora Sira 8, ‘there is no greater’ @l
8243 forar ST &, ‘no person is right’ &Y 2817 far@T SIraT &, ‘disability no greater’ &Y 548
fora srar & 1 I Fe “TT A ‘right’ &1 FHe Far gm?

Ans w7 1.1
X 2.2
X 3.4
X as

Question ID : 630680193663
Status : Answered
Chosen Option: 1
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Q.19 Q3R F¥ 3R 100 m T=raT ¢ 1 FOR ag 14 ga1 & 3R 150 m T=a1 1 fRe ag a1} gear & ik
170 m Teret g1 fR ag o] et & 3fi 80 m I<tan &1 3id #, a8 1Y g1 8 3R 70 m T« 81
ag IR AR @ fhaat m 7 ofik fra R d @2

Ans X 1.250 m uffj\ fem &
5 2.240 mug feem &
X 3.200 m ufgm feam &
o 4.230 mud e &

Question ID : 630680193665
Status : Answered
Chosen Option : 4

Q.20 31ERI & IH IS T T H< ot & 7 sjEe & Reh ==l F e ®u @ /@ 91 o sjigen
Y GRT ¥ |

IMPI_ _EIMP_ _ GEIM_ _ NGEI_ _ INGE
Ans & 1.NGINPIMP
7 2. GNNIMIPP
7 3. GNNIPIMP
4. GINNMIPP

Question ID : 630680193660
Status : Answered
Chosen Option : 1

Section : English Language

Q.1 Select the most appropriate option to fill in the blank.

antique shop will be a good place to see old clocks.
Ans  # 1.An

X 2.A
#< 3. No word required

X 4.The

Question ID : 630680193675
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate option to fill in the blank.

The Grand Central Terminal is most famous station in the world.
Ans X 1.a

o 2. the

X 3.an
X 4. No word required

Question ID : 630680193674
Status : Answered
Chosen Option : 2
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Q.3 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the e o

correct order to form a meaningful and coherent paragraph.

A. During that time she would forget all her work and listen with the greatest concentration.
B. Later, she could repeat the entire text by heart.

C. My grandmother never went to school so she could not read.

D. Every Wednesday, a magazine called Karmaveera would come, and | would read a story to
her.

Ans X 1.ADBC
« 2.CDAB
< 3.DACB
X 4.CBDA

Question ID : 630680193689
Status : Answered
Chosen Option : 2

Q.4 Select the INCORRECTLY spelt word.
Ans X 1. Actor

X 2. Author
X 3. Sailor
& 4. Waitor

Question ID : 630680193686
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

We have constructed a rough estimate of expenditure for this project.
Ans o 1. prepared

X 2. manufactured

75 3. No substitution required

X 4. built

Question ID : 630680193693
Status : Answered
Chosen Option: 1

Q.6 Select the most appropriate option to fill in the blanks.

a knife.

The artist was shocked that somebody had scratched his painting

Ans X 1.see, for

X 2. seeing, by
75 3.to be seeing, from

o 4. 10 see, with

Question ID : 630680193690
Status : Answered
Chosen Option : 4
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Q.7 Select the most appropriate option that can substitute the underlined segment in the given e o

sentence. If there is no need to substitute it, select ‘No substitution required’.
Our solar system is a part of the Milky Way galaxy.
Ans X 1.cosmos
X 2. universe
/< 3. creation

" 4. No substitution required

Question ID : 630680193691
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

Any inventory of Darjeeling is incomplete if a tea plantation is not included in it.
Ans X 1.record

< 2. index

25 3. No substitution required

o 4. itinerary

Question ID : 630680193692
Status : Not Answered
Chosen Option : --

Q.9 Select the correct punctuation mark to fill in the blank.

Bobby | didn’t know you could play the mouth organ.

Ans o 1.comma ()
#< 2. colon ()

/< 3.dash ()
5 4. semicolon ()

Question ID : 630680193678
Status : Answered
Chosen Option: 1

Q.10 Select the most appropriate ANTONYM of the word given in brackets to fill in the blank.

The whole story narrated by the girl was (accurate).

Ans 4 1. false

25 2. just
/5 3. strict

X 4. correct

Question ID : 630680193684
Status : Answered
Chosen Option : 1
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Q.11 Select the most appropriate option to fill in the blank. freparesoR e

We took a break after we for two days continuously.
Ans X 1. have worked

X 2. are working
&" 3. had worked
X 4. worked

Question ID : 630680193681
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate meaning of the given idiom.

By and large
Ans X 1. At some future time

X 2. Certainly
&" 3. 0On the whole
#5 4.0n the contrary

Question ID : 630680193683
Status : Answered
Chosen Option : 3

Q.13 Select the most appropriate meaning of the given word.

Absolute
Ans X 1.Yielding

X 2. Restricted
< 3. Limited
" 4. Complete

Question ID : 630680193685
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate option to fill in the blank.

Sarju sat next to her mother
Ans X 1.tohold

75 2. held
& 3. holding
75 4. hold

her doll tightly in her arms.

Question ID : 630680193677
Status : Answered
Chosen Option : 1
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Q.15 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the preparesOR e

correct order to form a meaningful and coherent paragraph.

A. Once, | went for a wedding with my cousins to the neighbouring village.

B. We children enjoyed ourselves thoroughly.

C. In those days, a wedding was a great event.

D. We would eat and play endlessly, savouring the freedom because all the elders were busy.

Ans X 1.ABDC
& 2. ACBD
X 3.ADBC
X 4.ADCB

. V2]
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Question ID : 630680193688
Status : Answered
Chosen Option : 4

Q.16 Select the option that can substitute the underlined segment in the given proverb correctly.
If there is no need to substitute it, select ‘No substitution required’.

Strike while the person is not ready.
Ans X 1. No substitution required

#< 2. everything is cold
< 3. everybody is resting
o 4.theiron is hot

Question ID : 630680193682
Status : Answered
Chosen Option : 4

Q.17 Select the sentence with correct punctuation and capitalisation.
Ans X 1. Well, that's all lve got to say, about Mars.

X 2. Well thats all I've got to say about Mars.
/< 3. “Well, that's all I've got to say about mars?”

" 4. "Well, that's all I've got to say about Mars.”

Question ID : 630680193679
Status : Answered
Chosen Option : 4

Q.18 Select the most appropriate option to fill in the blank.

My grandfather for a morning walk everyday irrespective of the weather outside.
Ans X 1.has gone

X 2.go
/< 3.is going
o 4. goes

Question ID : 630680193680
Status : Answered
Chosen Option : 4
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Q.19 Select the most appropriate option to fill in the blank. freparesoR e

This story is
Ans X 1.to

X 2. for
" 3. about

X 4. at

the partition of India and Pakistan.

Question ID : 630680193676
Status : Answered
Chosen Option : 3

Q.20 Select the INCORRECTLY spelt word.
Ans X 1. Culture

" 2. Sculptur
< 3. Murmur
< 4. Puncture

Question ID : 630680193687
Status : Not Answered
Chosen Option : --

Section : General Studies

Q.1 YR HRYAH___ & IR Udeh af WRd TRHR hI urahfard mfedl sk =g @t
feremor dwe & vega fovan ST 81

Ans X 1.3/g=% 110
X 2. ageee 121
X 3. argede 123
o 4. ITRE 112

Question ID : 630680193709
Status : Answered
Chosen Option : 4

Q.2 YRAg d@fau™ 6 e afafa & B
Ans X 1.7t9c™

o 2. 910 G
/X 3. 3776 e

X 4. sgacE

Question ID : 630680193700
Status : Answered
Chosen Option : 4
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Q.3 WRa # &=y anfior daf (RRBs) &Y RATAT MR TRHBR ZRT AR (RRBs) ifafags,
gyl & dgd & 7S oA

Ans X 1.1978
o 2.1976
% 3.1980
X 4.1974

Question ID : 630680193695
Status : Answered
Chosen Option : 4

Q.4 Sredi ATl H, Areran & & H eiR-AfdgR a1 Y Rug=T fhae i ofi?
Ans o 1. AT UUH

X 2. aIRS

X 3. R s

X 4.yga

Question ID : 630680193702
Status : Not Answered
Chosen Option : --

Q.5 YRR SR f FiF T gy du ok weul & i el ok @t & s @t Rfde
Cocik-v

Ans oy 1 7
x 2.3%
x 3.5
x 4107

Question ID : 630680193711
Status : Answered
Chosen Option : 4

Q.6 2011 & ST=FTUHT & IR, @ 7 @ fora Iog 6 TrerRdar = 80% & & &2
Ans o 1. STIUTES HaT

X 2. fEumee meer

X 3. B

X 4. mar

Question ID : 630680193699
Status : Answered
Chosen Option : 3
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Q.7 SwR-uydf & (gfeq) efaffem af ____ & arfva gam am
Ans 7 1.1971
< 2.1989
X 3.1952
X 4.1963

Question ID : 630680193705
Status : Not Answered
Chosen Option : --

Q.8 WRA I Fed &A%t Y F Foa MiMm ST eI 1
Ans o 1.2 4 ufaRE
< 2. 3.4 ufaera
X 3. 4.4 ufasra
X 4.1 4ufa=E

Question ID : 630680193696
Status : Answered
Chosen Option : 1

Q.9 SraRER 2022 #, Agufa i I ZRT YR & AgAEETEl (AG) & ¥u # ford fgeh fohar mar g2
Ans X 1.%.3. dupiore

X 2. ggpd Jgaft

& 3. 3R deheAfor

X 4. e TSt argad!

Question ID : 630680193712
Status : Answered
Chosen Option : 3

Q.10 fre F=Te 3 Yfff ATY=T Y e Womett (Zabat System) &l STa=TIT 2T?
Ans X 1.SgMR

X 2. RgEH

o 3.8

X 4. 3heR

Question ID : 630680193701
Status : Not Answered
Chosen Option : --

Q.11 WRA & Ugs SiSt TATER U= ST 7ot ol _____ 7 = foham ami
Ans X 1.9 TS

X 2. Rag I

X 3. guv dE I

o 4. S ST g

Question ID : 630680193703
Status : Answered
Chosen Option : 4
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Q.12 ¥Rd & snffer wderor 2021-22 A RUlE & SrgaR (i SiTeher & SIHR), R &Y 2021-22
GDP # 9T &= T RT&I T+ 21

Ans X 1.15%
o 2.53%
< 3.37%
X 4.75%

Question ID : 630680193706
Status : Not Answered
Chosen Option : --

Q.13 2011 N AT & AFAR, ________ & ST G 1 ) & 1S haet 17/km? 21
Ans X 1.fafFem

X 2. fem

25 3. T

o 4. SBUTEA UG

Question ID : 630680193697
Status : Answered
Chosen Option : 4

Q.14 2011 & ST & ER, RfafEa & @ frg S 6 s gfe &= 10 vl &0 82
Ans X 1.9

o 2. gl

X 3. SR

X 4 TR

Question ID : 630680193698
Status : Not Answered
Chosen Option : --

% ER, AgUfa e af & HUH G9E W5 & AR F Qe A1 Yehld dag & el
|l # SifHTIor Hd |

Ans o 1. 377c 87(1)
X 2.3 41(2)
X 3. 3rg=ae 53(1)
X 4. =T 93(1)

Q.15

Question ID : 630680193713
Status : Answered
Chosen Option: 1
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Q.16 Which of the following is an example of a physical feature formed by extensive gully resarestR e

erosion?
Ans X 1.Rann of Kutchh

X 2. Malda gap
75 3. Backwaters of Kerala

&* 4. Chambal basin

Question ID : 630680193707
Status : Not Answered
Chosen Option : --

Q.17 f=fafad d @ #19-8 d& ardifAes 89 & da &2
(a) T dR
(b) &< i aten
(c) Seet & aifew SR
(d) Ssuss dF
(e) 3RfTe de
Ans X 1.(c), (d) 3R (e)

X 2.(b), (c) R (d)
X 3.(a), (c) 3R (e)
& 4.(a), (b) 3R (c)

Question ID : 630680193694
Status : Answered
Chosen Option : 4

Q.18 fA=fafl@d & @ &9 91 YR TRER &1 Y GaenfAe A 82
Ans X 1. fa smar

X 2. T AFaTfIeR ST
X 3. dleure SR AleRr<h
o 4. T ol Jar manT

Question ID : 630680193710
Status : Answered
Chosen Option : 4

Q.19 fA=faf@a d @ w9 91 YRA & STaH VT ZRT e Aifee siffaR & wu d wfiga g, 5@
R dfeur & Aiferen sifder & wu d we & u 9 78 Rarmar g2

Ans o 1. AT @ SifdaR
X 2. Gaufeh ITAR ol SIfdR
X 3. ef & Tesrar o SIS, Fikpfaes iR et Tl sifdr
X 4. 20w & favg SR

Question ID : 630680193708
Status : Not Answered
Chosen Option : --
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Q.20 1882 #, gut # o i~ wiarsdl/emd afgen wHTST i RTTAT foRw Y ofi? =Prepare 50% Faster
Ans X 1. armErs Qg

72X 2. whrfaET g

X 3. anfasftars ot

o 4. UTSar TTETS TREad

Question ID : 630680193704
Status : Answered
Chosen Option : 4






